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B4, M1
1. NaBH,, THF-MeOH, -5 °C, 80%
Oy NMe(OMe) 2. A, THF, 0 °C, 65%
3. TESCI, imidazole, DCM, 98%
oPMB 4. mCPBA, DCM, 0 °C to rt, 82% compound X Smil,
o) _ \\O 5. NaBH,, (PhSe),, EtOH, rt; then reflux CaqH4g0Si THF
: 6. mCPBA, -78 °C, 80% reflux
TBSO 7. PCC, NaOAc, 4AMS, DCM, rt, 56% 50%
8. HF-Pyridine, THF
C31 H45NO7S| 9. PCC, DCM 75% (2 steps)
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_ " (i) i-PrONa, i-PrOH, rt, 15h (92%)
O T ros

0”0 (ii) Bry, H,0O (98%) 5 I
B
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(iii) +-BUOK, THF, 15 h (65%) o steps =
B E——
(iv) 15% aq. HCI, reflux (96%)
CO,H
C (x)-a-ekasantalic acid

Q1: Provide reasonable explanations to the synthetic transformations shown above.

Q2: Plan a synthesis plan to convert C into (t)-a-ekasantalic acid.

L. Lomba, K. Afarinkia, and V. Vinader Org. Biomol. Chem. DOI: 10.1039/c80b0063¢c



